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$���	�	�)�����"����#�

# find first power of 2
# greater than 100

proc find_pow {}  {
set x 1
while {$x < 100}  {

incr x $x
}
return $x

}

0 push1 0 # x = 1
2 storeScalar1 0
4 pop

5 jump1 +7

7 loadScalar1 0 # x += x
9 incrScalar1 0

11 pop

12 loadScalar1 0 # if x < 100
14 push1 1 # goto 7
16 lt
17 jumpTrue1 -10

19 loadScalar1 0 # return x
21 done
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!����������

…

0

incrScalar1

0

loadScalar1

7

jump1

pop

0

storeScalar1

0

push1

vpc

for (;;) {

opcode = *vpc;

switch (opcode) {

case PUSH1:

// real work…

vpc += 2;

break;

case POP:

…
�"����#��

*����
�����	��
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 ���$�����	��
�switch()

push_work:
add r6, 4, r6
ldub [r4+1], o0
ld [fp+72], o2
…
bra .switch_end

pop_work:
ld [r2], g1
add r2, -4, r2
mov g1, l0
…
bra .switch_end

…

&&sub_work

&&add_work

&&pop_work

&&push_work

$�#���##��

�
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-'����	�)�switch()

ldub opc = [vpc] // ����#� ���#�.����	)��#/

cmp opc, max_opc // ����#
�������.�
���

/
bg switch_default

set r5 = switch_table // ��(����������.�
�	#�(��/
mul r1 = r4 * 4
ld [r5 + r1], r1

jmp r1 + r5 // !�#	�����"�������������

� ���������
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ld address = [vpc] // ����#� ���#�.	������/
jmp address // !�#	���������

� 01�$"���


� �����(�"��'���

�#�	��2���$

3 ���
����#����
	#�����	
��������

� 1�	�
�
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4��5����	
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$%&�%	���	��

6-7�8
Instruction 

Cache

L2
Cache

add r6 += 4
ld r1 = [r4]
ld r2 = [fp+8]
ld addr = [vpc]
jmp addr
???

� 9���	�)��	���	������������	��
����:�����	�)4��
������	���	�
�����	��
,
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����������)���%��#	����

0 add r6 += 4
4 ld addr = [r1]
8 cmp r6, 12

12 bg 6
16 jmp addr
20 ld r2 = [r3]
24 sll r2 = r2, 2
28 jmp r2

pctargetpcjmp

1000

42

28

16
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� ��#�	#��4��2�����������#����$%&


� $��������
����	
������	���
	��������

� D��"����#	
�����

0 push1 0
2 storeScalar1 0
4 pop
5 loadScalar1 0
7 incrScalar1 0
9 pop

call push1
call storeScalar1
call pop
call loadScalar1
call incrScalar1
call pop

E��	
��$�#��.F$��G/�"����#�
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• jump (�����
��������	
��	�
�����	��


• jumpTrue �
�
����	
��(�����B�(�����
������


0 jump1 +7
2 loadScalar1 0
4 incrScalar1 0
6 pop
7 loadScalar1 0
9 push1 1

11 lt
12 jumpTrue1 -10
14 loadScalar1 0

0 b 16
4 set vpc = 7
8 call loadScalar

12 call incrScalar
16 call pop
20 call loadScalar1
24 call push1
28 call lt
32 call jumpTrue1
36 beq 8
40 call loadScalar1
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� 5��������	�	���������������� jumpTrue

3 %���	��J�����������#�
����#4�(������
,

� gt, lt, tryConvertNumeric, foreachStep4

3  �
��
���!�	�����������
������	�� gt

� ��� ?4@���
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$������	��

� !��-�H<K

� !��	�����������	


3 +���	��	I��������#


3 -�	�	�����vpc

� $����	����#

� <��"����#	
����� pop

storeScalar

push

push

add
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Tcl Opcodes are Big

5%Tcl

37%Ocaml

25%Java

Context Threading 
Speedup



Tcl VM Dispatch 26

$�����
	��
���#�8������5���

� $����'�������#	�)�	
�
	�����N�������	
�

3 ��
��#	
������.�������H
 ���(���/

3 ���	�	����
����	�	I��	��

3 	��	������������#�
B���������'?DB�%����%$

� 01A�
���#�����	
	��J���� 0<'�
�����������$

3 �	��������#�
 ��#��������O!�



Tcl VM Dispatch 27

7����	
�������
�����#

Tcl Opcodes

DISPATCH

Ocaml Opcodes
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O��"�� ��#� "#��%��)���
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start: Vop1
Vop2
Vop1
Vop3
Vop1
Vop4
Vop1
Vop5
Vop1
goto start

Unpredictable

start: Vop1
Vop1
Vop1
Vop1
Vop1
Vop1
Vop1
Vop1
Vop1
goto start

Predictable
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3 $���
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����.o7/

3 5��
�
���	�����)	
����	������
��
�#���)

call bigop
mov o7, save_ret
…

bigop:
call runtime
…
mov save_ret, o7
retl
inc vpc, 4
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